11.1 Tree Diagrams and Tables
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Sample space: All possible outcomes of a probability experiment
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Probability: number of favourable outcomes O é P(A) é \

total number of possible outcomes

Example: Find the following probabilities
P(sum of 4) %/ 3, \/\)\
P(sum of 7 or 8) ”/3\,
P(sum is even) \5/510 z \ /)\

P(sum is greater than 4) 3’\)/ _ g/
o~
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P(sumof 7or8) /3l
P(sum is even) \B/5L 2 /D\

P(sum is greater than 4) 3’0/ _ g/
w0

Find the probability using a tree diagram.
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Example

Ellen flips a coin and rolls a four-sided die numbered 1,2,3 and 4

What is the sample space? Use a tree diagram and chart
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Whatis P(H, 4)? Whatis P(H, even number)? = J& } /1
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